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Group D

1). The hard outer layer of pollen grain called the
exine is made up of which is one of the
most resistant organic materials known.

(a) Calcium pectate (b) Calcium oxalate

(c) Sporopollenin (d) Callose

2). A mixture of DNA fragments of various lengths is
provided to a person. That person is asked to use
only short fragments from the given mixture for an
experiment. What should the person do in order to
obtain only the short fragments?

(a) The person should perform PCR.

(b) The person should perform Agarose Gel
Electrophoresis.

(c) The person should observe the mixture under the
microscope and separate it manually.

(d) The person should use a bioreactor.

3). Select true and false
|. Hepatitis -B is caused by a bacterium.

Il. Genital herpes is a sexually transmitted disease
and caused by virus

lll. Vasectomy and Tubectomy are the sterilisation
methods

IV. Cervical caps are reusable
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4). The anther is a four-sided (tetragonal) structure
consisting of four located at the
corners, two in each lobe.

(a) Megasporangia (b) Microsporangia

(c) Merosporangia (d) Meiosporangia

5). When the anther is young, a group of compactly
arranged homogenous cells called the
tissue occupies the centre of each
microsporangium.

(a) Permanent (b) Complex (c) Sporogenous
(d) Simple

6). The innermost wall layer of microsporangium is
the which nourishes the developing
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pollen grains.
(a) Epidermis (b) Middle layer (c) Tapetum
(d) Endothecium

7). Pollen grains are well preserved as fossils
because of the presence of

(a) Callose (b) Sporopollenin
(c) Exine sculpturing (d) Intine

8). The inner wall of the pollen grain called the intine
is a thin and continuous layer made up of

(a) Cellulose (b) Pectin (c) Algin
(d) BothAand B

9). About which day of the cycle does rapid LH
secretion takes place.
(a) 5" Day (b) 11" Day (c) 14" Day

(d) 20" Day

10). In a double bond connecting two atoms, there
is a sharing of

(a) 7 electrons (b) 8 electrons (c) 4 electrons

(d) 3 electrons

11). At 273K and 10 bar the Langmuir adsorption of
as gas on a solid surface gave the fraction of
surface coverage as 0.01. The Langmuir

adsorption isotherm constant bar
1(Give the answer to the third decimal place)

(a) 0.0010 bar' (b) 0.0001 bar! (c) 0.0110 bar™
(d) 0.0011 bar

12). The dissociative chemisorptions of X, (g) on a

metal surface follows Langmuir adsorption
isotherm. The ratio of the rate constant of the

adsorption and desorption processes is 9 atm™.
The fractional surface coverage of X(adsorbed) at
1.0 atm pressure is:

(@ 0.75 (b)0.05 (c)0.50 (d)1.75

13). Consider the case of SFg. Let the smallest F-S-
F angle be X. What is X/30?

(@9 (b)6 (c)3 (d)4



14). The following metal ion activates many
enzymes, participates in the oxidation of glucose
to produce ATP and with Na, is responsible for the
transmission of nerve signals.

(a) 161.8 A% (b) 181.8A% (c)381.8A°
(d) 981.8 A3

15). What will be the pH if the equivalent
conductance of 0.05 M an acid, HA,is6 S cm? eq”
1 at 25°C and the A, = 300 S cm? eq”'?

(@2 (b)4 (c)3 (d)6

16). An electrolysis of a oxytungsten complex ion
using 1.10 A for 40 min produces 0.838 g of
tungsten. What is the charge on tungsten in the
material? (Atomic weight : W = 184)

(@6 (b)3 (c)5 (d)1

17). For the zeroth order reaction, sets | and Il are
given, hence x( in min) is

| —_— | e
e w

t=0 t=2min
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(@2 (b)3 (c)4 (d)6

18). When a glass rod rubbed with silk is brought
near to a plastic rod that was rubbed with fur, they

(a) Neither attract nor repel each other
(b) Attract each other (c) Repel each other
(d) Both become positively charged

19). According to quantisation of charge

(a) Electric charges cannot be added

(b) Electric charges can be destroyed

(c) Electric charge is always an integral multiple of e

(d) Electric charge will always be less than e

20). The law that governs the force between any
two point charges is

(a) Faraday's law (b) Ohm's law (¢) Coulomb's law

(d) Gauss's law

21). A capacitor charged to 100 volt has 0.1 C of
charge. when it is discharged, the energy will be

(@4J (b)5J (c)6J (d)10J

22). Mobility is defined as

(a) Drift velocity per unit area
(b) Drift velocity per unit volume
(c) Drift velocity per unit electric field

(d) Drift velocity per unit mass

23). How does the resistivity of a metal change with
increase in temperature?

(a) Decreases with temperature
(b) Increases with temperature
(c) Remains unaffected

(d) First increases, then decreases

24). What is the net charge of an electric dipole?
(a)2q (b)-2q (c)Zero (d)1

25). How does decrease in temperature affect the
resistivity of semiconductors?

(a) Resistivity increases (b) Resistivity decreases
(c) No change in resistivity

(d) First decreases and then increases

26). In the following question, some statements
followed by some conclusions are given. Taking
the given statements to be true even if they seem
to be at variance from commonly known facts,
read all the conclusions and then decide which of
the given conclusions logically follows the given
statements.

Statement:

Comic books contain pictures.
Conclusions:

I. All book contain pictures.

Il. Books may or may not contain pictures.
IIl. Books other than the comic books do not
contain pictures.

(a) Only Conclusion | follow.
(b) Only Conclusion Il follows.

(c) Both Conclusion | and Il follow.

(d) Neither conclusions follows.

27). Which answer figure will complete the pattern in
the question figure?
Question figure

\TY

1) 2) 13) (4

(a) Figure (1) (b) Figure (2) (c) Figure (3)
(d) Figure (4)



28). Which answer figure will complete the pattern in
the question figure?
Questions figures :

?

Answer figures :

(2) (b) (<) (d)

(a) Figure (a) (b) Figure (b) (c) Figure (c)
(d) Figure (d)

29). Direction: In the following question, a
statement is given followed by two courses of
action. Assuming everything given in the statement
is true, decide which of the option logically worth
pursuing.

Statement:

During a flight, the pilot found that one of the
engines of the airplane is not working.

Courses of action:

|. The pilot should try to land in the nearest airport
as soon as possible and follow the instruction from
air traffic control.

II. Crashland immediately and do not wait for any
instructions as it will waste time.

(a) Only | follows (b) Only Il follows

(c) Both | and |l follows (d) Neither | nor Il follows

30). Golu is son of Bhola. Sheetal is daughter
of Golu. Chitra is daughter of Dilip and Dilip is
brother of Bhola. How is Chitra related to Sheetal?

(a) Sister (b) Mother (c) Aunt (d) Mother in law

31). Kavya's birthday is on Tuesday 4th July. On
what day of the week will be Anika's Birthday in the
same year, if Anika was born on 15th August?

(a) Wednesday (b) Friday (c) Saturday
(d) Tuesday

32). In how many ways the letters of the word
‘MOBILE’ be arranged, so that, the vowel and
consonants occupy alternate positions?

(@) 56 (b)20 ()90 (d)72

33). In the question below, two statements are
given, followed by two conclusions. You have
to consider the given statements as true, even if
they are at variance from commonly known facts.
From the given options, choose the one that
provides the correct combination of conclusions
that follow/ can be derived from the given
statements.

Statement A: A green leaf doesn't resist turning
red when autumn approaches.

Statement B: Likewise, humans must also not
fight the law of the Universe.

Conclusions:

|. Leaves turning red in autumn is the law of the
Universe.

Il. Humans are not that different from leaves.

(a) Neither I nor Il (b) Only Il (c) Both I and Il
(d) Only |

34). Statement:
It is found that the computer of one of the top
officials in the prime minister’s office is hacked.
Which of the following substantiates the given
statement?
|. The government may stop providing computers
to top officials.
Il. The government may order an immediate
change of security features on all computers used
by top officials.
lll. The official concerned may be arrested.

(a) Only (I) (b) Only (Il) and (I) (c) Only (IlI)
(d) Only (Il)

35). A+B means A is the sister of B. A*B means A is
the brother of B. AxB means A is the father of B.
A +B means A is the mother of B. Which of the
following expression represents P is sister of Q7

(a) PtR+Q (b) PxR+Q (c) P+R:Q (d) P+R+Q

36). Aseries is given with one term missing. Select
the correct alternative from the given ones that will
complete the series.

15, 35, 63, ?, 143,195

(@99 (b)77 ()85 (d)98

37). Which letter will replace the question mark (?)
in the following series?
G LFK?,0,B

@D (BN ()T (d)L

38). Point B is in the east of Point C at 30m. Point C
is in the north of Point D at 26m. Point D is in the
west of Point E at 50m. Find the shortest
approximate distance between C and E, and
also find the direction of E with respect to B.

(a) 56m, south-east (b) 60m, south-east
(c) 65m, south-west (d) 70m, south-west

39). In a certain code language, LARVAE is coded
as 15-1-9-5-1-2. How will INSECT be coded as in
that language?

(a) 3-13-8-2-24-7 (b) 18-13-8-2-24-7
(c) 3-13-8-22-24-7 (d) 9-13-8-22-24-7

40). In the following question, select the missing
number from the given alternatives.



statements to be true, even if they seem to be at
] 9 variance with commonly known facts, decide
which of the conclusions logically follow(s) from
6 1 ! 64y 3 the statements.
AR B Statements:
I. All markers are pens.
4 8 II. No pen is pencil.
Ill. Some pens are sharpeners.

(a) 216 (b) 125 (c)36 (d) 343 Conclusions:

|. Some pens are markers.
Il. No marker is pencil.
41). Select the option in which the given figure is IIl. No marker is sharpener.
embedded. (Rotation is not allowed) .
(a) Conclusions | and Il follow
(b) Conclusions Il and Il follow.
(c) Either conclusion | or |l follow.

(d) Conclusions | and Il follow

45). Select the option in which the given figure is
embedded. (Rotation is not allowed)

; A

(a)

(a) (b)

(c) ﬂ (d)
L, ~

(c) (d)

X ™

42). A paper is folded and cut as shown below. How
will it appear when unfolded?

H ! 46). Choose the option that most closely resembles
o | 4. : the mirror image of the given Figure when mirror is
- ﬁ H I i placed at right side.
f P laal
vV vV vV vV —— O . t
@29 @22 ] @|=e° = ||
[= .| oo oo :
AA AA AN TV - :
W v " O . {
a
@| @2 O ® o >
oo Q:
vV vV Q
@ To| @f o
43). Five phones, H, M, R, T and V are kept one 63
above the other not necessarily in the same order. |:>

The number of phones above T is the same as the
number of phones below V. R is just above H. V is
at the bottom. There are two phones between M
and V. Which of the following phones are above
R?

(@MandT (b)Rand!l (c)MandV (d)MandH

47). In the following question, select the related
word from the given alternatives.
Ink : Pen :: Blood : ?

(a) Donation (b) Vein (c) Accident (d) Doctor

44). Three statements are given, followed by three
conclusions numbered |, Il and Ill. Assuming the



48). Select the option that is related to the third term
in the same way as the second term is related to
the first term.

House : Kitchen :: Plant : ?

(a) Roots (b) Leaves (c) Flower (d) Stigma

49). In the following question, one statement is
followed by two Assumptions | and Il. You have
to consider the statement to be true, even if it
seems to be at variance from commonly known
facts. You have to decide which of the given
assumption(s), if any, follow(s) from the given
statement.

Statement: “If you work hard, you will pass the
examination”.
Assumptions:

I. You will not pass the examination.

II. To pass, you must work hard.

(a) If only assumption | is implicit.
(b) If only assumption Il is implicit.
(c) If neither | nor Il is implicit.
(d) If both | and Il are implicit.

50). Select the number that can replace the
question mark (?) in the following series.

13,17,16, 14,19, 11,22, ?

(a9 ()8 (c)7 (d)10

51). In a certain code language, ‘SAT is written as
‘42" and ‘PES’ is written as ‘42’ What is the code
for ‘AZC’ in that code language?

()32 (b)34 (c)42 (d)44

52). A question and two statements labeled (I), (II)
are given. You have to decide which statement(S)
us/are sufficient to answer the question.

What is Guna's age?

I. Guna, Vinay and Keshav are all of the same
age.

Il. Sum of ages of Vinay, Keshav and Arjun is
32; also Arjun is as old as Vinay and Keshav
together.

(a) Statement Il alone is sufficient.
(b) Both the statements together are needed

(c) Either | or Il alone are sufficient.

(d) Statement | alone is sufficient.

53). In the following question, one statement is
followed by two Assumptions | and Il. You have to
consider the statement to be true, even if
they seems to be at variance from commonly
known facts. You have to decide which of the

given assumption(s), if any, follow(s) from the
given statement.

Statement: “Peace and justice are the two side of
the same coin.

Assumptions:
|. Peace and justice cannot coexist.

Il. Peace and justice thrive together.
(a) If only assumption | is implicit.
(b) If only assumption Il is implicit.
(c) If neither | nor 1l is implicit.

(d) If both | and Il are implicit.

54). In a certain code language
‘PSYCHOANALYSE' is written as 'l @ #$%"&"&<#
@ >'. How will ‘CANALS’ be written in that code?

(a) $8*8< @ (b)#%*%<@ (c) $&*&# @
(d) @ #°&"%

55). Manish after walking 15 km towards east turns
135 degree in the clockwise direction and walks 17
km. How far is he from his starting position?

(a) 12km (b)8km (c) 10km (d)9km

56). Three successive discounts of 12%, 13% and
11% are equivalent to an approximate single
discount of:

(3 32% (b)40% (c)42% (d)35%

57). Aand B can do a job in 10 days and 5 days,
respectively. They worked together for two days,
after which B was replaced by C and the work was
finished in the next three days. How long will C
alone take to finish 40% of the job?

(a) 15days (b) 18 days (¢) 10days (d) 12 days

58). If 14331433 x 1422 x 1425 is divided by 10,
then what is the remainder?

@9 ()0 (c)3 (d)8

59). A person sold an article at a loss of 16%. Had
he sold it for ¥660 more, he would have gained
8%. If the article is sold at 3,080 then how much
profit percentage is gained?

(@) 20% (b) 15% (c)12% (d) 10%

60). Direction: The given bar graph shows the
number of students of two schoaols over a period of
six years.
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In the bar graph, in which year is the absolute
difference of the students from schools Ato B
taken together, the maximum?

(a) 2010 (b) 2013 (c)2012 (d) 2011

61). Direction: The given bar graph shows the
number of students of two schools over a period of
six years.

#School A = School B

2008 2009 2010 2011 2012 2013

In the bar graph, what is the ratio of the students
taken for years the 2008, 2012, 2013 together
from school A to the students taken for the years
2009, 2010, 2011 together from school B?

(a) 217:229 (b) 118:251 (c)229:217
(d) 251: 118

62). Atakes 2 hours 30 minutes more than B to walk
40 km. If A doubles his speed, then he can make it
in 1 hour less than What is the average time taken
by A and B to walk a 40 km distance?

(a) 5 hours 45 minutes  (b) 7 hours 15 minutes

(c) 5 hours 15 minutes (d) 6 hours

63). Two pipes A and B can fill a tank in 12 hours
and 18 hours respectively. Both pipes are opened
simultaneously. In how much time will the empty
tank be filled completely?

(a) 8 hours (b) 10 hours 24 minutes

(c) 9 hours 30 minutes (d) 7 hours 12 minutes

64). The perimeter of a square is half the perimeter
of a rectangle. The perimeter of the square is 40
m. If its breadth is two-thirds of its length, then
what is the area (in m2) of the rectangle?

(a) 400 (b) 196 (c)384 (d) 321

65). A, B and C started a business investing
amounts of 13,750, 16,250 and 18,750,
respectively. If B's share in the profit earned by
them is ¥5,200. What is the difference in the profit
(in ¥) earned by A and C?

(a) 1,800 (b) 1,500 (c) 1,600 (d) 1,200

66). If 4(cosec257" —tan233°)—cos 90" +vy x
tan266° x tan224° = y/2 then the value of y is:

(@4 (b)8 (c)4 (d)-8

67). Aladder leaning against a wall makes an angle

g With the horizontal ground such that tan g — 12,

‘

If the height of the top of the ladder from the waﬁ is
24 m, then what is the distance (in m) of the foot of
the ladder from the wall?

(a)18 (b)19.5 (c)10 (d)7.5

68). Direction: The given histogram shows the
height of the students.

Numbers of students

Height class in cm

What is the percentage of students whose height
is in the class interval 165-1757?(correct to the
nearest integer)

(a)34 (b)25 (c)39 (d)37

69). 3
40+=x32
Thevalueof _______ 4  s:

3
37+-x(34-6
3 4![\ )

@ _1° M1 (© > (3
29 29 29 29

70). The average of twelve numbers is 39. The
average of the last five numbers is 35, and that of
the first four numbers is 40. The fifth number is 6
less than the sixth number and 5 more than the
seventh number. The average of the sixth and
seventh numbers is:

(a)47.5 (b)44.5 (c)39 (d)50



71). A person invested 12,000 on simple interest
for 7 years to obtain a total amount of 20,400 on
a certain annual rate of interest. What was the rate
of interest to obtain the above amount?

(a) 10% (b)8% (c)9% (d) 7%

72). Seven years ago, the ratio of the ages of A and
B was 4: 5. Eight years hence, the ratio of the
ages of Aand B will be 9: 10. What is the
difference between their present ages in years?

(@4 (b)2 (c)3 (d)6

73). Direction: The given pie chart represents the
popularity of ice-cream flavours in the year 2015

2005 2015

Chocolate
32.7%

Scotch
16.6%

Scotch
10.8%

In 2015, if the total sale of chocolate flavour is
for ¥5,160 then the total sale (in ) for vanilla
flavour is:

() 4,100 (b) 5,160 (c) 4,120 (d) 3,300

74). A person was standing on a road near a mall.
He was 1215 m away from the mall and able to
see the top of the mall from the road in such a way
that the top of a tree, which is in between him and
the mall, was exactly in line of sight with

the top of the mall. The height of tree is 20 m and
it is 60 m away from him. How tall (in m) is the
mall?

(a) 375 (b) 300 (c)405 (d) 250

75). What is the sum of the digits of the least
number which when divided by 15, 18 and 36
leaves the same remainder 9 in each case and is
divisible by 117

(@) 16 (b)17 (c)15 (d) 18

76). If decreasing 110 by X% gives the same result
as increasing 50 by x%, then x% of 650 is what
percentage (correct to the nearest integer) more
than (x - 10) % of 7807

(a)17% (b) 12% (c) 18% (d) 14 %

77). Pipes A and B can fill a tank in 16 hours and 24
hours respectively, whereas pipe C can empty the
full tank in 40 hours. All the three pipes are opened
together, but pipe C is closed after 10 hours. After

how many hours will the remaining part of the tank
be filled?

@2 ® 21 ©5 @:;!

|

78). Alis twice as good a workman as B, and
together they finish a piece of work in 13 days. In
how many days, will A alone finish the work?

@41 (B 192 © ol (@39

79). The value of
5.35 x 5.35 x 5.35 +3.65 X 3.65 x 3.65 ..

53.5 x 53.5 + 36,5 X 36,5 — 53.5 X 36.5
(3 0.9 (b)90 (c)0.09 (d)9

80). Atrain x running at 74 km/h crosses another
train y running at 52 km/h in the opposite direction
in 12 seconds. If the length of y is two-thirds that of
X, then what is the length of y (in m)?

(a) 252 (b) 200 (c)168 (d)210

81). Which Ministry has launched the Central
Athlete Injury Management System (CAIMS)
initiative?

(a) Ministry of Earth Sciences

(b) Ministry of Communications

(c) Ministry of Health & Family Welfare

(d) Ministry of Youth Affairs and Sports

82). Mahabalipuram is pre-eminently testimony to
which of the following civilization?

(a) Pallavas (b) Satvahanas (c¢) Chandela
(d) Maurya

83). The Ajanta caves are situated of Ellora.
(a) 100 km North-East (b) 100 km North
(c) 100 km South (d) 100 km South-West

84). Who formulate fiscal policy in India?

(a) Ministry of Personnel, Public Grievances and
Pensions

(b) Ministry of Agriculture & Farmers Welfare
(c) Ministry of Finance

(d) Ministry of Commerce and Industry

85). What is the number of candidates that can be
added to the Electronic Voting Machine by adding
a maximum of 4 balloting units?

(a) 08 (b) 16 (c)32 (d)64



86). ‘Pankhida’is sung by the peasants of
(a) Punjab (b) Assam (c) Manipur (d) Rajasthan

87). Which of the following danceis related to the
tea tribe of Assam?

(a) Kathakali (b) Garba (c) Jhumur Dance
(d) Kalbeliya

88). BardoChham, in which the performers wear
masks representing different animals, is the dance
of which Indian state?

(a) Jammu and Kashmir (b) Assam
(c) Arunachal Pradesh (d) Jharkhand

89). When did Mahatma Gandhi die and who
assassinated him?

(a) 30™ January, Nathuram Vinayak Godse
(b) 20th January, Nathuram Vinayak Godse
(c) 30™ January, Satvant Singh

(d) 29t January, Beant Singh

90). What involves securities trading, that is online
buying and selling of shares and other financial
instruments ?

(a) E-Delivery (b) E-Trading
(c) E-Communication/E-Promotion
(d) E-Bidding/E-Auction

91). Who has been appointed as the new head of
'Roscosmos' by Russia recently?

(a) Lira Hartson (b) Yuri Borisov

(c) Dmitry Bakanov (d) None of these

92). In which city has the BIMSTEC Youth Summit
2025 started recently?

(a) Gandhinagar (b) Colombo (c) Kathmandu
(d) Mumbai

93). is the currency that quickly and
regularly moves between financial markets

(a) Hard Money (b) Soft Money (c) Hot Money
(d) Token Money

94). Choose the right statement regarding SEBI

(a) It's full form is Securities and Exchange Board of
India

(b) It was established on 12 April 1980

(c) It was given Statutory Powers on 30 January 1992
through the SEBI Act, 1992

(d) It's headquarters are in Mumbai

95). Which of the following awards was designed by
Savitri Bai Khanolankar?

(a) Padam Shri  (b) Padam Vibhushan
(c) Param Vir Chakra (d) Bharat Ratna

96). Which of the following architecture style is not
found in 'Fatehpur Sikri'?

(a) Persian (b) Central Asian (c) Indian
(d) Gothic

97). The person who sets-up his business is called
an .. & .. % .. %

(a) Intrapreneur (b) Ultrapreneur (c) Entrepreneur

(d) Interpreneur

98). Which of the following is not a winner of the
Indira Gandhi Peace Prize?

(a) Parliamentarians for Global Action (b) UNESCO
(c) UNICEF
(d) Former Prime Minister Rajiv Gandhi (1991)

99). Choose the wrong statement with reference to
the religious belief of Harappan people.

(a) They worshipped mother goddess
(b) They worshipped Shiva Pashupati
(c) They worshipped Vishnu

(d) They worshipped Trees and Animals

100). Which of the following member of drafting
committee of Constitution substituted by N
Madhav Rao?

(a) Dr. B.R. Ambedkar (b) K.M. Musnshi
(c) D.P Khaitan (d) B.L Mittar



